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Draw a program flowchart to represent the following pseudocode.

Begin

8

‘While scores exist

initialize sum to zero

initialize counter to zero

input a score

increment counter by 1

Add score to sum

If there are more scores to read,
compute average as sum divided
by counter
Print the average

Else
input next score
End if
Else
Print no records exist
End while

End

(9 marks)
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17 (a) (1) In the BCD number coding scheme, letter A is represented by 110001 and
letter B by 110010. Determine how the word CAB is coded in BCD.

(i)  Convert the decimal number 11.125 to its binary number system equivalent.
(3 marks)

(iti)  Perform the binary arithmetic:
111.01+1011.111 — 101.011
and convert the answer to decimal notation. (3 marks)
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(b)  Explain the importance of each of the following in word processing:

(i) tab stops; (2 marks)

(i) section breaks. (2 marks)

(c) State three documents that are used during mail merging in word processing.
(3 marks)
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18 () State three functions of networkin,

g operating systems other than providing
network security.

b) Explain three ways in which an operatin

g system provides data security in a
computer system.

©) Explain three circumstances unde

r which observation method may be preferred
during data collection.
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19 (a) @) List two techniques of acquiring electronic images to be used in a desktop
publishing program. (1 mark)

(i) Describe two layout guides in a desktop publishing program (DTP) that
assist a user to place an object in a preferred position. (4 marks)

(b) Explain three ways of ensuring that data submitted for processing is accurate.
(6 marks)
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(c) An engineering company requires a computer system to design roads and bridges.
Explain one suitable choice for:

(i) output device; (2 marks)

(ii) software. : (2 marks)
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(a) Explain two ways in which the use of internet could make reporting of corruption
easier. (4 marks)

(b)  Explain two circumstances under which the use of wireless communication would be
preferred in data communication. (4 marks)
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16

Figure 2 is an extract of a spreadsheet showing what the students had targeted to
score and the actual score in a computer remedial class.

NAME TARGET | ACTUAL | PERFORMANCE
SCORE SCORE FACTOR
Abdi 40 45
1 Alex 30 65
" Ben 50 60
= 30 20
@ Bena 45 45
¥ Sheila 70 60
Figure 2

A performance factor is obtained by subtracting the target score from the actual
score and dividing the difference by the target score.

‘Write a formula that uses cell references only that would be entered in cell:

[63) D2 to compute the performance factor. (2 marks)

(i)  E2to display the statement ‘more remedials’ if the performance factor is
less than zero, ‘exempted’ if the factor is greater than zero and ‘optional
remedials’ if otherwise. (4 marks)

THIS IS THE LAST PRINTED PAGE.
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(c) An engineering company requires a computer system to design roads and bridges.
Explain one suitable choice for:

(i) output device; (2 marks)
P

(i) software, : (2 marks)
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SECTION A (40 marks)

© Answer ALL the questions in this section in the spaces provided.

State two circumstances under which warm booting of a computer may be necessary.
(2 marks)

(3 marks)

Figpre 1 shows relationships between tables in a database.

Table 1 Table 2
PerformancelD /-1- TermID
TermCode ke Ygar

StudID S s ]
Mathematics _\ Table 3
English ! StudentID

Kiswahili Name
Science 7 Class

Figure 1




image2.png
3

Identify twe primary and twe foreign keys used in the relationship. (2 marks)
4 State two advantages of using portable computers. (2 marks)
5 (a) ‘Write the acronym MODEM in full. (1 mark)
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8

4

(3 marks)
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10 State three circumstances under which voice input would be preferred over other methods
of data capture. (3 marks)
11 A computer technician found it necessary to disable a firewall when working on a computer
system. State two reasons that may have necessitated disabling of the firewall. (2 marks)

12
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13 State three reasons why it is important to define datatypes of fields in a database correctly.
: : (3 marks)

14 Explain two uses of a system documentation in system development. N (4 marks)

15 Distinguish between a systems administrator and a database administrator as used in
computers. . (2 marks)
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SECTION B (60 marks)

Answer Question 16 and any other THREE questions in this section in the spaces provided.

16 () List four web programming languages. (2 marks)

(b) State four ways in which a programmer can make program code easy to follow.
i (4 marks)




